
Quiz 1 

[1]Find   𝐵(2, −
1

2
)    

[2]Find the integrals:  

  𝑎   𝑥

∞

0

 . 𝑒−2𝑥𝑑𝑥                    𝑏   cot 𝑦

𝜋/2

0

 𝑑𝑦                       𝑐   𝑥2 − 𝑥3

1

0

 𝑑𝑥 

[3]Find the L.T of the following:  

(a) 𝑓 𝑡 = 3 + 𝑡 + sin 𝑡      (b) 𝑓 𝑡 = 𝑡. sin 𝑡        (c) 𝑓 𝑡 = 𝑒3𝑡 . cos 2𝑡 

(d) 𝑓 𝑡 = 4 + 𝑡3 . 𝛿2(𝑡)      (e) 𝑓 𝑡 = (𝑡 − 1)2     (f) 𝑓 𝑡 = (𝑡 − 1)2 ,    𝑡 > 1 
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Quiz 2 

[1]Find the inverse Laplace transform of the following: 

  (a) 𝐹 𝑠 =
3

𝑠
+

1

𝑠3
               (b) 𝐹 𝑠 =

1

(𝑠−2)3
+

𝑠

𝑠2+4
                 (c) 𝐹 𝑠 =

𝑠

𝑠2−4
+

1

𝑠2+3
 

[2] Solve the equation:  𝑦` + 4𝑦` + 3𝑦 = 𝑒−𝑡 ,       𝑦 0 = 𝑦` 0 = 1 

[3]Find the Fourier series of the function: 

       𝑓 𝑥 = 𝑥 + 1,   − 1 ≤ 𝑥 ≤ 1,   𝑓 𝑥 + 2 = 𝑓(𝑥) 
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Quiz 3 

[1]Find the Fourier series of the function: 

       𝑓 𝑥 =  𝑥  ,   − 𝜋 ≤ 𝑥 ≤ 𝜋,   𝑓 𝑥 + 2𝜋 = 𝑓(𝑥) 

[2]Solve the P.D.E :  𝑢𝑥 + uy = x   
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